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Timesaver quiz - answers 

 

N1/L1.5 
N1/L1.6 

 

1. Is 10 a multiple of 5? (In other words, is it in the 5 × table?) Yes 

 

2. Is 45 a multiple of 5? (In other words, is it in the 5 × table?) Yes 

 

3. Is 18 a multiple of 9? (In other words, is it in the 9 × table?)  Yes 

 

4. Is 12 a multiple of 4? (In other words, is it in the 4 × table?)  Yes 

 

5. Is 1,235 a multiple of 2? No 

(All numbers in the 2 × table are even.  
Even numbers end with the digit 0, 2, 4, 6, or 8.) 

 

6. Is 162 in the 3 × table? Yes 

(If the digits add up to 3, 6 or 9 then you know it’s in the 3 × table.) 

 

7. Is 7,612 in the 5 × table? No 

(Only numbers ending in 5 or 0 are in the 5 × tables.) 

 

8. Is 513 in the 6 × table? No 

All numbers in the 6 × table are even. 

 

9. Is 516 in the 6 × table? Yes 

(The digits add up to 12 and it is an even number.) 

 

10. Is 243 in the 9 × table? Yes 

(The digits add up to 9.) 


